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Geometry - All

The perimeter of a rectangle is 20z + 14y. The length is 83z — 5y. Write a polynomial for
the width.

Write a polynomial for the volume of this object.
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The length of some copper wire may be represented by x. The wire is cut in half and
each half is bent into the shape of a square. What is the total area of the two squares?

The perimeter of the figure is 80. What is =7
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In rectangle ABCD, m{3 = 14z + 5 and m/2 = 2z + 35. Find z and m/1.
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The length of a rectangle is 3 more than twice the width. The perimeter is 60. What
are the dimensions of the rectangle?

The length of the first side of a triangle is 8 less than the second side. The third side is
one half the length of the second side. If the perimeter is 47, how long are the three
sides?

The length of a rectangle is 4 times the width. If the length is decreased by 6 and the
width is tripled, the perimeter remains the same. Find the perimeter of the original
rectangle.




